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Note: (1) All questions are to be attemptéd.

(2) Figures to the right indicate full marks.
Choose the correct option from the following multiple choice question. EI(D
Entropy changes are always in irreversible reaction.
(a) Increase (b) decrease (c) remain zero (d) remain constant
For an adiabatic process
(a) T= constant (b) q=0 (c) = constant (d) w=0
The pressure necessary to stop the osmosis is called pressure.
(a) Osmotic (b) dynamic (c) vapour (d) static

_method is used to measure the vapour pressure lowering.

(@) Dynamic (b) Beckmann (c) Landsberger (d) Morse Frazer

For a galvanic cell, the electrode at which oxidation and reduction oecurs are called

{a) Anode and anode (b) Anode and Cathode (c) Cathode and Anode (d) None of these
The unit of cell constant are .

() Obm’em™ (b) em™ () Ohm'em (d) Siemen

The activity(a) of weak electrolyte in an aqueous solution can be obtained by
@1 BT OF @ |

The effect of dilution on vajous conductances is as follow

{a) cdnductance increases {b) Specific Conductance decreases

(¢} molar conductance increases (d) All of these

Which of the following substance used to prepafe the reference electrode ?
(2) ZnCh (5) H:Ch (c) CuSO4 () KNO;

Platinum foil in hydrogen gas electrode is used for

(a) Flow of H; gas (b) Flow of electr'o:n (¢) Flow of io.n.s (d) All of these

Fill in the Blanks. Cos)
The Maxwell entropy equation is .(8=RInw, S=K ln w)

Chemical reactions occurs in laboratory are normally type. (isobaric, isothermic)

Unit of molal freezing point depression constant is . (Joule, Kg.mole™)
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is not a colligative property. (osmotic pressure, temperature)
is cotrect formula for equivalent conductance, (AC=1000K, AC=100K)
electrolyte graph of A—+/C is straight line. (KC1, CH;COOH)

Due to association, value of Van’t Hoff's factor . (increase, decrease)
is the stronge electrolyte. (NH4Cl, HCI)

Answer the following short questions, (Any Ten)

Define (i) Isochoric process (ii} Isobaric process.

State Carnot theorem.

Give Kelvin statement for the second law of thermodynamics.

What is the basic principle of osmosis.

Define the term of Boiling point

Explain: The Morse-Frazer method for measurement of osmosis pressure.

Define cell constant and also mention its units.

State Kohlrausch’s law with its limifation.

Explain the conductometric titration between weak acid and strong base.

Define electrode concentration cell & electrolyte concentration cell.

Write the cell reaction for : Cdi Cd*? [KC1 | HgxCliHg

Write a short note on calomel electrode,

Answer the following Long questidns. ( Attempt any four)

Discuss in detail the Carnot cycle and hence show that the net work done is equal to the net
heat absorbéd for a'cyclic process,

Derive the equation of entropy change when temperature and volume are two variables.
State Raoults law. Show how molecular weight is related with lowering of vapour pressure.
Derive an expression for an alternative form of Raoult’s law,

Describe the Dynamic method for measuring lowering of vapour pressure.

What is ele§t1‘olysis? Explain electrolysis of HCl solution by considering 3 compartments.
Discuss the Tonic s.trengt}'l(u). If the concentration of H' ion and CH;COO" ion are co,
caleulate the ionic strength(p) for CH;COOH. |

What are reversible electrodes? Explain different types of electrodes giving suitable

examples. : ‘ : -
Derive an exptession to calculate EMF of concentration cell without junction potential,
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Yol : (1) €35 Usloll Aellod W,
@) waioll el oty eolAcl 2is Yoo el €2l B,
A RQseu ue 531 At Uslotl wellor 2, Cio)
wyfdadl yBand AR Yesiz éRait R ' :
(@) ARl (b) W2 (c) Yo 82t (d) UM 3 |
ALl s uBa v .
(a) T= WUAN (b) ¢=0 (c) g= WAUN (d) w=0

uletaRglal Azt 12 o33 et EGUL st WA B,
(a) @AW (b) SR (o) ctsd (d) BB '
GV E Rl TRLSla] Hiust R4l oll Gu2lot a2l B,
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(a) Aolls A Aells (b) Blells WA Fs

(¢) 3ells uA Balls  (d) GuAset A5 Ul o1l

St UN ol AsH, 8,

() AL (b) AL (o) wen AL, (d) ddet

el galdensasll el st 1Badia) wls200ell Ancll asia d.

@) v.c (b)Y (©) ¥ (d) &
Heotal iRl oyloyel cussciizllell wuz 8.

(a) ciescll aut? (b) [ARle ctesell wetd (¢) MewR cussel AU (d) Al whey

deel cllayot aatictal U@ olAsiaiell seu el Guadol s 7
(@) ZnCly (b) HexCly (0) CuSO; (d) KNO,
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gyt uisictt 51 R Qggrldousat Uiact Suioll cautuey 2,

- e el eyl a evils Cdj Cd*? KCL | He,CliHg
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